N of associated (recoToSim) looper tracks vs normalized x*

N of associated (recoToSim) tracks vs normalized X?

[N of reco track vs normalized x2 ]

(%] 1%} 4] 0
x x < x
Q Q o (5]
g g o g 8
[ [} Q
B - :fg §
=
=]
j+ o
W
103_
] o F o o
T I T T :
4 o4 o 14 onon
o.8f-
I o : : O5ff--:-
. : - 0.6f R R LERE ST EERY, T :
0 2 4 6 8 10 12 14 16 18 20 0 4 6 8 10 12 14 16 18 20 0'“(J2468101214161823 0 2 10 12 14 16 18 20
track x2 track x2 track x2 track x?
r BONM O —Step 2 tthar-phese rewneonT
| N of reco track vs,sl —— BéM—BIidSEE Smmg{geiﬁlﬁtau%? asﬁglgf%%?%‘ﬂasel-newqeam Jyerset
L L2 2
[*] o1 <
g g 8
[ [} Q
=3 X =
B £ 10 8
TRRRTIRAS 2
=3
o
o =] ]
I T I
o4 o o4




	Contents
	Page 1


